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ngeral Instructions

Working time — 90 mimutes
‘Write using black or blue pen
Board-approved calculators may be used

" All necessary working should be shown on every question
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Multiple Chaoice

1.

A

{c)

.

Which is not the equation of a fmction?

(A)  y=xis
B)  y=—25-1°
@ x=y'+3
o =3
Which is the graph eff(x):—(x+2)2—3?
(®)
v i
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e g - . =x
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If iaut?:% and sin# <0, then secf =

1 ) 13
I ® - © £ o -

Which of ﬂle following diagrams show where x*+»* 24 and y<x—2 hold

simultaneocusly? ) k. Solve 221 = 8
(A
c.  Showthat 0.9=]
"5
d. Sclve for x if ‘ a2
€
= e. Completely factorise the follewing
i 6 —28x+30
ii. x' 16
sin flcosf+sin’ @ ' Bl (e-yY - 3x + 3y

sinfcost+cos’ @

(A) tané (B) ccté {C) sec’d (D) . cosec’d
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Question 6 (Start a new page — 15 marks)

tA

‘ [651 .-
13 a. Evaluate 3 = correct to 4 significant figures
. 7
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Question 7 (Start a new page - 14 marks)

. 2
Expand and simplify {4+3 2

a,

b. Show that i can be expregsed in the form a + b N
V3442

c. Simplify 1 21

£Ex O —x

d, Solve for x:

i 22 e
3 4
ii. X >x
e Solve these equations simultaneously:

x4yt -25=0and y+x=1
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Question 8 (Start a new page - 12 marks)

a. Sketch these graphs on separate munber planes showing all important features:

i f(x):\;‘36—x2
ii. Flx)=+36-x

iii. F{x)=—x+4x-3

b. A function is given by the equation g (x)=x"—6x+8,find :

i g(-3)
il. g(aﬁB)

fiil.  allthe values of x for which g(x) <0

c. The fimetion f(x)=x{x—3)(>x+4) is an odd function. Find the value of f.
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Question 9 (Start a new page — 24 marks)

a. Find the value of x if sin (x+20)° = cos 30° ‘ 1

b. Write the following as a trigonometric ratic of # (if #1s acute) , with the correct sign
atiached.
. sin(180°+0) 1
ii. cog(—6) ‘ 1

Caleulate the exact avea of the
triangle to the left . 3

d. Consider the triangle ABC.

A

i. Clearly show that AC=3+/5 . 1

il Hence find the exact and simplified value of cosee(90 - 8)° 2
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Solve for & over the domain 0° <8 <360

V3

1. cosf) = ——-

2
i. ginf =sinftan & ‘ ~
iii, tan26=0

NOT TO SCALE

4, B,and C are markers in an orienteering course. AC=4km and BC=5lkm.
The bearing of C from B is 040°T. The bearing of B from 4 is 250°T.

i.  Copy or frace this diagram inte your writing booklet.
ii. Find the size of ZCA4B cozrect to the nearest degree.

iii. Hence find the bearing of 4 from C.

' 3
i Showthat sin@eos #4252 _ootg
sin 4
. . cos @ o o
il Hence solve sinfcogd +— =3, for —180° €8 <180
sin
END-OF EXAM
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